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  New Vision of EE  


Sample Exam 2

1. Badger Pump Company invested $500,000 five years ago in a new product line that is now worth $900,000. What rate of return did the company earn

(a) On a simple interest rate basis and 

(b) On a compound interest basis? 

2. An interest rate of 13% per year, com​pound monthly, is equivalent to what effective rate per Year?

3. GE Marine Systems is planning to supply a Japanese shipbuilder with aero-derivative gas turbines to power II DD​-class destroyers for the Japanese Self​-Defense Force. The buyer can pay the total contract price of $1,700,000 now or an equivalent amount 2 years from now (when the turbines will be needed). At an interest rate of 20% per year, what is the equivalent future amount?

4. A recent engineering graduate passed the FE exam and was given a raise (beginning at the end of the year) of $2000. At an interest rate of 8% per year, what is the accumulated value of the $2000 per year raise over her expected 35-year career? 

5. An internet book distribution company is considering purchasing a sophisticated computer system to "cube" a book's di​mensions-measure its height, length, and width so that the proper box size will be used for shipment. This will save packing material, cardboard, and labor. If the sav​ings will be $12,000 the first year, $13,000 the second, and amounts increasing by $1000 each year for 10 years, what are the 

(a) Present worth and 

(b) The uniform annual worth of the system at an interest rate of 15% per year? 

6. A metallurgical engineer decides to set aside money for his newborn daughter's college education. He estimates that the needs will be $20,000 on her 18th, 19th, 20th, and 21st birthdays. If he plans to make uniform deposits through year 17, with the first deposit now, what should be the size of each deposit, if the account earns interest at a rate of 8% per year? 

7. The by-product department of Peyton Packing has a cooker that has the cost stream below. If the interest rate is 18% per year, determine the present worth of the costs.

	Year
	Cost, $
	Year
	Cost, $

	0
	4000
	6
	8000

	1
	4000
	7
	9000

	2
	4000
	8
	9100

	3

_
	5000
	9
	9200

	4
	6000
	10
	9300

	5
	7000
	11
	9400


8. A software package created by Navarro Associates can be used for analyzing and designing three-sided guyed towers and three- and four-sided self-supporting towers. A single-user license will cost $4000 per year. A site license has a one​time cost of $10,000. A structural engi​neering consulting company is trying to decide between 2 alternatives; first to buy one single-user site license now, 1 year from now, and 2 years from now, and sec​ond, to buy a site license now. Determine which strategy should be adopted at an interest rate of 12% per year for a 5-year planning period.
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